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2012/13 The 5™ Hong Kong Mathematics

Creative Problem Solving Competition for Secondary School (Heat - Written)

School Code Session Total Score
/ 50
Question Answer Score
1 The total surface area of the cuboid is (2
2 The distance between Station A and Station B was km. (2)
3 The area of DEFGHI is (2)
4 The greatest possible value of R is (@)
5 M+N = 2
6 Finally, % of the content in packet B was green bean. (@)
a.  (19%5) + (27%10) + (3% 15) + (4%20) + ... + (997495) =
7 ©)
b.  (1%3)+ (3%5) + (5%7) + (7%9) + ... + (2011+%2013) =
a. In the final triangular pattern, there were different colors.
8 ©)
b. There were small triangles in the outermost ‘ring’.
a. Thereare such angles.
b.  Among these angles,
9 (4)
the biggest one(s) are of size °, angles are of this size.
the smallest one(s) are of size °. angles are of this size.




‘2”and are in a pair. ‘4’ and are in a pair. ‘6’ and are in a pair.

10 4)
‘8”and are in a pair. ‘10’ and are in a pair.
lattice points in the grid board can be reached by the beetle.
11 (@)
lattice points in the shaded region can be reached by the beetle.
After the fold, % of the grey area can still be seen.
12 4)
BP is cm.
matches are needed to form a 20X 13 rectangle pattern.
13 (%)
The rectangle pattern formed consists of at most unit squares.
The possible locations of B are
14 (5)
The possible values of x are
At least numbers were to be crossed out.
15 The new task could be done with the following numbers remaining: (6)
() from to Or (m  from to
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